
Short note **Jacobsthal analogues of two
Fibonacci–Lucas identities
and a generalization**

Emil Daniel Schwab and Gabriela Schwab

1 Two Fibonacci–Lucas identities

The Fibonacci sequence $0, 1, 1, 2, 3, 5, 8, 13, \dots$ and its companion Lucas sequence $2, 1, 3, 4, 7, 11, 18, \dots$ are defined by the same recurrence relation but with different initial conditions

$$F_0 = 0, F_1 = 1, F_{n+2} = F_{n+1} + F_n \quad \text{and} \quad L_0 = 2, L_1 = 1, L_{n+2} = L_{n+1} + L_n.$$

In [14], B. Sury proved the nice Fibonacci–Lucas relation

$$2^{n+1} F_{n+1} = \sum_{i=0}^n 2^i L_i \tag{1}$$

using a polynomial identity. Kwong uses in [9] an alternate proof via generating functions, and earlier, Benjamin and Quinn [2] proved (1) through colored tilings (see also [3, Identity 236]). It should be noted that, after the publication of the proof of identity (1) in [14], many extensions and generalizations of (1) appeared in the mathematical literature (see [1, 5–7, 10–13], etc.).

One of the first extensions of identity (1) is Martinjak’s [11] Fibonacci–Lucas identity

$$(-1)^n F_{n+1} = \sum_{i=0}^n (-1)^i 2^{n-i} L_{i+1}. \tag{2}$$

The goal of this note is to obtain analogues of these identities for the Jacobsthal sequence and its companion the Jacobsthal–Lucas sequence and to extend (1) to generalized Fibonacci–Lucas numbers.

2 The Jacobsthal analogues

The Jacobsthal and the Jacobsthal–Lucas sequences $0, 1, 1, 3, 5, 11, 21, 43, \dots$ and $2, 1, 5, 7, 17, 31, 65, \dots$, respectively, are defined by

$$J_0 = 0, J_1 = 1, J_{n+2} = J_{n+1} + 2J_n \quad \text{and} \quad j_0 = 2, j_1 = 1, j_{n+2} = j_{n+1} + 2j_n.$$

As we shall prove, the Jacobsthal analogue of identity (2) has the following two versions, one for even and one for odd terms:

$$(-1)^n J_{2(n+1)} = \sum_{i=0}^n (-1)^i 2^{n-i} j_{2i+1}, \quad (3a)$$

$$(-1)^n J_{2n+1} = -2^n + \sum_{i=0}^n (-1)^i 2^{n-i} j_{2i}, \quad (3b)$$

and the Jacobsthal analogue of identity (1) is

$$2^{n+1} J_{n+1} = \sum_{i=0}^n 2^i j_i. \quad (4)$$

A striking similarity between these Fibonacci–Lucas identities and their Jacobsthal analogues (especially between (1) and (4)) can be recognized. In what follows, we shall present two significantly different proofs of identities (3a)–(3b) and (4), one proof characterized by its simplicity, and the other one by its specificity.

3 A simple proof of Jacobsthal analogues (3a) and (3b)

We begin with the simple proofs of the Jacobsthal analogues (3a) and (3b).

In the case of Fibonacci and Lucas numbers, the basic connected identity is $L_{n+1} = F_n + F_{n+2}$. The corresponding connected identity between Jacobsthal and Jacobsthal–Lucas numbers is the following one:

$$j_{n+1} = 2J_n + J_{n+2}.$$

Thus, using this identity and rearranging the parentheses, we obtain

$$\begin{aligned} \sum_{i=0}^n (-1)^i 2^{n-i} j_{2i+1} &= 2^n j_1 - 2^{n-1} j_3 + 2^{n-2} j_5 - \dots + (-1)^{n-1} 2 j_{2n-1} + (-1)^n j_{2n+1} \\ &= 2^n J_1 - 2^{n-1} (2J_2 + J_4) + 2^{n-2} (2J_4 + J_6) - \dots \\ &\quad + (-1)^{n-1} 2(2J_{2n-2} + J_{2n}) + (-1)^n (2J_{2n} + J_{2n+2}) \\ &= 2^n (J_1 - J_2) - 2^{n-1} (J_4 - J_4) + \dots + (-1)^{n-1} 2(J_{2n} - J_{2n}) + (-1)^n J_{2n+2} \\ &= (-1)^n J_{2(n+1)} \end{aligned}$$

since $j_1 = J_1 = J_2 = 1$.

We proceed in a similar way in the case of (3b):

$$\begin{aligned} \sum_{i=0}^n (-1)^i 2^{n-i} j_{2i} &= 2^n j_0 + \sum_{i=1}^n (-1)^i 2^{n-i} (2J_{2i-1} + J_{2i+1}) \\ &= 2^n (j_0 - J_1) + \sum_{i=1}^{n-1} (-1)^i 2^{n-i} (J_{2i+1} - J_{2i+1}) + (-1)^n J_{2n+1} \\ &= 2^n + (-1)^n J_{2n+1}. \end{aligned}$$

4 A proof of the Jacobsthal analogue (4)

We give now a proof of identity (4) using Euler’s Telescoping Lemma.

In 2011, Bhatnagar [4] reformulated an identity used by Euler in his proof of the Pentagon Number Theorem. This new version was called by Bhatnagar “Euler’s Telescoping Lemma”.

Bhatnagar, by examining the finite version of the product $\prod_1^\infty (1 + x_i)$, that is,

$$\begin{aligned} (1 + x_1)(1 + x_2) \cdots (1 + x_n) \\ = (1 + x_1) + (1 + x_1)x_2 + \cdots + (1 + x_1) \cdots (1 + x_{n-1})x_n, \end{aligned}$$

in short,

$$\prod_{i=1}^n (1 + x_i) = 1 + x_1 + \sum_{i=2}^n (1 + x_1) \cdots (1 + x_{i-1})x_i,$$

and by setting $1 + x_i = \frac{y_i}{z_i}$ ($z_i \neq 0$) obtains the following lemma.

Lemma 1 (Euler’s Telescoping Lemma [4, Equation (3.4)], [5, Equation (2.1)]).

$$\prod_{i=1}^n \frac{y_i}{z_i} = \frac{y_1}{z_1} + \sum_{i=2}^n \frac{y_1 y_2 \cdots y_{i-1}}{z_1 z_2 \cdots z_{i-1} z_i} (y_i - z_i) \quad (z_i \neq 0). \quad (5)$$

Now, it is straightforward to check that the Jacobsthal analogue (4) of identity (1) is obtained when $y_i = 2J_{i+1}$ and $z_i = J_i$. Thus,

$$\prod_{i=1}^n \frac{y_i}{z_i} = 2^n J_{n+1} = \frac{2^{n+1} J_{n+1}}{2} \quad (\text{since } z_1 = J_1 = 1),$$

and

$$\begin{aligned} \frac{y_1}{z_1} + \sum_{i=2}^n \frac{y_1 y_2 \cdots y_{i-1}}{z_1 z_2 \cdots z_{i-1} z_i} (y_i - z_i) &= 2 + \sum_{i=2}^n 2^{i-1} (2J_{i+1} - J_i) \\ &= 1 + 1 + \sum_{i=2}^n 2^{i-1} j_i = 1 + \sum_{i=1}^n 2^{i-1} j_i \\ &= \frac{\sum_{i=0}^n 2^i j_i}{2} \end{aligned}$$

since $2J_{i+1} - J_i = J_{i+1} + (J_{i+1} - J_i) = J_{i+1} + 2J_{i-1} = j_i$. The proof is now complete.

5 A generalization of identity (1)

Let a and b be two fixed real numbers. Kalman and Mena [8] denote by $\mathcal{R}(a, b)$ the set of all sequences $\{A_n\}_{n \geq 0}$ with initial terms A_0, A_1 and all succeeding terms given by

$$A_{n+2} = aA_{n+1} + bA_n.$$

The space $\mathcal{R}(a, b)$ is a subspace of \mathbb{R}^∞ and every subspace $\mathcal{R}(a, b)$ contains two distinguished elements called by Kalman and Mena [8] the (a, b) -Fibonacci sequence denoted $\{F_n^{a,b}\}_{n \geq 0}$, and the (a, b) -Lucas sequence denoted $\{L_n^{a,b}\}_{n \geq 0}$. The initial terms of the first sequence are $F_0^{a,b} = 0, F_1^{a,b} = 1$, and the second starts with $L_0^{a,b} = 2, L_1^{a,b} = a$. For example, the ordinary Fibonacci and Lucas sequences are the $(1, 1)$ -Fibonacci and the $(1, 1)$ -Lucas sequences, respectively. The Jacobsthal sequence is the $(1, 2)$ -Fibonacci sequence and the Jacobsthal–Lucas sequence is the $(1, 2)$ -Lucas sequence.

Now, the fundamental connectivity between the (a, b) -Fibonacci numbers and the (a, b) -Lucas numbers is given by (see [8, Equation (5)])

$$L_{n+1}^{a,b} = bF_n^{a,b} + F_{n+2}^{a,b}.$$

Since

$$\begin{aligned} 2F_{i+1}^{a,b} - F_i^{a,b} &= F_{i+1}^{a,b} + (F_{i+1}^{a,b} - aF_i^{a,b}) + (a-1)F_i^{a,b} \\ &= F_{i+1}^{a,b} + bF_{i-1}^{a,b} + (a-1)F_i^{a,b} = L_i^{a,b} + (a-1)F_i^{a,b} \end{aligned}$$

for $i \geq 1$, using Euler's Telescoping Lemma (5) with $y_i = 2F_{i+1}^{a,b}$ and $z_i = F_i^{a,b}$, and following step by step the proof of the Jacobsthal analogue (4), we obtain the following generalization:

$$2^{n+1}F_{n+1}^{a,b} = \sum_{i=0}^n 2^i [L_i^{a,b} + (a-1)F_i^{a,b}]. \quad (6)$$

6 Two examples

The Pell numbers P_n and the Pell–Lucas numbers Q_n are the $(2, 1)$ -Fibonacci and the $(2, 1)$ -Lucas numbers, respectively. Following (6), the Pell analogue of the Fibonacci–Lucas identity (1) is

$$2^{n+1}P_{n+1} = \sum_{i=0}^n 2^i (Q_i + P_i).$$

The Mersenne numbers $M_n = 2^n - 1$ are the $(3, -2)$ -Fibonacci numbers and the Mersenne–Lucas numbers $m_n = 2^n + 1$ are the $(3, -2)$ -Lucas numbers. Following (6), the Mersenne analogue of the Fibonacci–Lucas identity (1) is

$$2^{n+1}M_{n+1} = \sum_{i=0}^n 2^i (m_i + 2M_i).$$

Other examples and extensions can be given and we encourage the reader to find them using Euler's Telescoping Lemma.

References

- [1] W. M. Abd-Elhameed and N. A. Zeyada, [New identities involving generalized Fibonacci and generalized Lucas numbers](#). *Indian J. Pure Appl. Math.* **49** (2018), no. 3, 527–537 Zbl [07811745](#) MR [3854450](#)
- [2] A. T. Benjamin and J. J. Quinn, Fibonacci and Lucas identities through colored tilings. *Util. Math.* **56** (1999), 137–142 Zbl [0940.05008](#) MR [1728330](#)
- [3] A. T. Benjamin and J. J. Quinn, *Proofs that really count*. The Dolciani Mathematical Expositions 27, Mathematical Association of America, Washington, DC, 2003 Zbl [1044.11001](#) MR [1997773](#)
- [4] G. Bhatnagar, [In praise of an elementary identity of Euler](#). *Electron. J. Combin.* **18** (2011), no. 2, Paper 13, 44 Zbl [1230.33010](#) MR [2811063](#)
- [5] G. Bhatnagar, Analogues of a Fibonacci–Lucas identity. *Fibonacci Quart.* **54** (2016), no. 2, 166–171 Zbl [1400.11035](#) MR [3512836](#)
- [6] C.-L. Chung, J. Yao, and K. Zhou, Extensions of Sury’s relation involving Fibonacci k -step and Lucas k -step polynomials. *Integers* **23** (2023), Paper No. A38, 16 MR [4598167](#)
- [7] T. Edgar, Extending some Fibonacci–Lucas relations. *Fibonacci Quart.* **54** (2016), no. 1, 79 Zbl [1400.11041](#) MR [3473265](#)
- [8] D. Kalman and R. Mena, [The Fibonacci numbers—exposed](#). *Math. Mag.* **76** (2003), no. 3, 167–181 Zbl [1048.11014](#) MR [2083847](#)
- [9] H. Kwong, [An alternate proof of Sury’s Fibonacci–Lucas relation](#). *Amer. Math. Monthly* **121** (2014), no. 6, 514 Zbl [1055.47028](#) MR [3225460](#)
- [10] D. Marques, [A new Fibonacci–Lucas relation](#). *Amer. Math. Monthly* **122** (2015), no. 7, 683 MR [3383896](#)
- [11] I. Martinjak, [Two extensions of the Sury’s identity](#). *Amer. Math. Monthly* **123** (2016), no. 9, 919 MR [3570222](#)
- [12] I. Martinjak and H. Prodinger, Complementary families of the Fibonacci–Lucas relations. *Integers* **19** (2019), Paper No. A2, 10 Zbl [1441.11031](#) MR [3901614](#)
- [13] D. Paunić, [On the sums of Fibonacci and Lucas sequences or the art of cancelling \$1 - x\$](#) . *Elem. Math.* **72** (2017), no. 4, 171–172 Zbl [1431.11029](#) MR [3715342](#)
- [14] B. Sury, [A polynomial parent to a Fibonacci–Lucas relation](#). *Amer. Math. Monthly* **121** (2014), no. 3, 236 MR [3168995](#)

Emil Daniel Schwab (corresponding author)

Department of Mathematical Sciences

The University of Texas at El Paso

El Paso, TX 79968, USA

eschwab@utep.edu

Gabriela Schwab

Department of Mathematics

El Paso Community College

El Paso, TX 79902, USA

gschwab@epcc.edu